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QUESTION 1

LSP toNode3 is configured on Node1, all hops configured in the lsp path and lsp destination address are reachable via
IGP. Both primary and secondary LSP paths are down with failure code equal toRoute ToDestionation. What is the
potential cause of this problem? 

A. A loose hop has to be configured in path toNode3-loose 

B. The secondary path should not be configured as standby path 

C. No traffic engineering information is exchanged by the IGP protocol 

D. CSPF cannot be enabled with strict hop path 

E. MPLS should not be enabled on interface toPod3 

Correct Answer: C 
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QUESTION 2

VPRN 300 is configured between Node 3 and Node 4. Node 4 receives VPN routes from Node 3 and imports them into
the VRF. The entire route-table is displayed below for VPRN 300 on Node 

4. When attempting a ping from VPRN 300 on Node 4 to 30.1.1.1 the ping fails. A ping from Node 3 within VPRN 300 to
30.1.1.1 is successful. What is the cause of the problem? 

A. No local interface existed in VPRN 300 route-table on Node 4 

B. Syntax problem in the ping command 

C. Prefix 30.1.1.1 does not exist on the far-end 

D. Source address has to be specified in the ping command 

E. Next-hop address has to be specified in the ping command 

Correct Answer: A 

 

QUESTION 3

Node 1 receives some VPRN routes from Node 2, but Node 2 is not receiveing any VPRN routes from Node 1. Routes
in VPRN 400 route table are found on Node 1 as follows: Based on the configuration below, why is Node 2 not receiving
BGP VPN routes from Node 1? 
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A. VRF import and export policies defined on Node 1 do not match with vrf-target defined on Node 2 

B. Prefix-list exportVPRN100 is applied on Node 1 but not on Node 2 

C. More than one import route targets are defined on Node 1 and only one defined on Node 2 

D. VRF target has to be defined on Node 1 as well 

E. Community target:65535:101 is not defined on Node 1 

Correct Answer: E 

 

QUESTION 4

Two routers are physically connected to each other with ISIS configured. No ISIS adjacency can be found on both
routers. Ping works fine on the local and the remote interface addresses on both routers. Review the confguration
information shown below. Which of the following statements best describe the cause of the problem? Select one answer
only. 
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A. The ISIS interface level configured does not match the ISIS level capability supported on the routers 

B. The ISIS authentication check is enabled but there is no authentication type and password configured 

C. ISIS Area addresses are not configured on both routers 
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D. L1 wide Metrics are disabled on the routers 

E. ISIS Circuit id does not match on Node-1 and Node-2 

Correct Answer: C 

 

 

QUESTION 5

What MPLS tunnel label(s) will be used in the data packet traveling on LSP toR4 FRR leaving from Node 3 to Node 4? 
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A. 131069 131068 

B. 131068 3 

C. 131069 

Latest 4A0-110 Dumps | 4A0-110 Study Guide | 4A0-110 Braindumps                                7 / 8

https://www.geekcert.com/4a0-110.html
https://www.geekcert.com/4a0-110.html
https://www.geekcert.com/4a0-110.html


https://www.geekcert.com/4a0-110.html
2024 Latest geekcert 4A0-110 PDF and VCE dumps Download

D. 131068 

E. No label is used in the data packet 

Correct Answer: A 
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